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No. of hit in Ecal (ArborPFOsCollection)
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Combining result in Ecal

(Arbo rPFOsColl ection) Reconstruction energy (combining E & hits)
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No. of hit in Ecal (ArborPFOsCollection)

Reconstruction energy (No. of hit)
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Combining result in Ecal

(ArborPFOsCollection) Reconstruction energy (combining E & hits)
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P aram ete ' VS E (ArborPFOsCollection)
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P aram ete ' VS E (ArborPFOsCollection)
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Ey resolution with calibration (perfect cluster)
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Combining result in Ecal
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Combining result in Ecal
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Combining result in Ecal
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Combining result in Ecal
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Combining result in Ecal
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Combining result in Ecal
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Combining result in Ecal
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Combining result in Ecal
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Combining result in Ecal
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Combining result in Ecal
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Combining result in Ecal
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Combining result in Ecal
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Combining result in Ecal
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Combining result in Ecal
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Combining result in Ecal
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Combining result in Ecal
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Combining result in Ecal
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Ey deposited (perfect cluster)
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Ey deposited (perfect cluster)
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Ey deposited (perfect cluster)
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Ey deposited (perfect cluster)
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Ey deposited (perfect cluster)
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Ey deposited (perfect cluster)
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Ey deposited (perfect cluster)
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